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Text 1 Steppe eagles 

Task 1  Are 1-8 below true (T) or false (F).       (8 points) 

 

  True False 

1.  Scientists in Russia were shocked by a phone bill.   

2.  An eagle they were tracking was the cause of the high phone bill.   

3.  The cause of the phone bill was the eagle damaging Internet cables.   

4.  The eagle flew across Russia and China to Japan.   

5.  Bird lovers worldwide helped the scientists to pay the phone bill.   

6.  The bill was over $16,000.   

7.  Russia's government told the scientists all future bills would be free.   

8.  A scientist now wants the eagle to stop sending SMS data.   

 
 

Task2.  Choose the best answer.         (20 points)   

9)  Who got a shock? 

a) scientists 

b) an eagle 

c) a phone company 

d) Russia's president 

10)  What kind of eagle were the scientists tracking? 

a) a Siberian eagle 

b) a bald eagle 

c) a steppe eagle 

d) a golden eagle 

11)  What was an eagle fitted with? 

a) a uniform 

b) a tiny helmet 

c) a pager 

d) transmitters 

12)  What did the eagle use in other countries? 

a) roads and rivers 

b) Internet services 

c) the toilet 

d) time 

13)  Which two countries did the eagle fly to? 

a) Iran and Pakistan 

b) China and Japan 

c) China and North Korea 

d) Iran and Saudi Arabia 

14)  What did the team of scientists start to help pay the bill? 

a) a lottery 

b) a loan account 

c) a competition 

d) a crowdfunding site 
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15)  How much money did the scientists raise? 

a) $1,700 

b) $1,800 

c) $1,600 

d) $1,500 

16)  What did Russia's mobile phone operator do with the bill? 

a) they demanded immediate payment 

b) they cancelled it 

c) they reviewed it 

d) they extended it 

17)  How much does an SMS in Kazakhstan cost? 

a) 10 cents 

b) 20 cents 

c) 30 cents 

d) 40 cents 

18)  What does a scientist want the eagle to keep doing? 

a) living 

b) sending SMS data 

c) reproducing 

d) representing Russian wildlife 

 

 

Text 2 A morning briefing 

Task 3.  Are the sentences true or false?       (12 points)   

  True False 

19. The briefing will be short this morning.   

20. The new head of department is starting this week.   

21. The car park will be closed for improvements.   

22. If you arrive first thing in the morning, you should park on Brown Street.   

23. There will be no parking after 6 p.m.   

24. You can only pay with credit and debit cards in the canteen.   
 

   

  

 

 

 

 


